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Pick the correct output signal and enter the number in the answer box:

Difference Equation, H(2), H(®), or h[n].

@ firfilt( [1,1], [0,1,-1] )
ANS =

(b) y[n] =y[n—1]+x[n] (atrest)
with x[n] = 8§[n] — 8[n — 1]

1
HZz =—+—
(© H® 17
with x[n] = §[n]

ANS =
(d) y[n] =x[n—1] —Xx[n— 2]

with x[n] = 3+ cos(27rn/3) for dl n.

ANS =
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Output Signal

y[n] =é8[n —1] — §[n— 2]

2. y[n] = é[n]

3. y[n] =6[n—1] —§[n — 3]
4. y[n] = u[n]

5.
6
7
8
9

y[n] = ()"u[n]

. yIn] = (=3)"u[n]
. yIn]=0 foradln
. yIn] =cos(2rn/3—mx) foradln

y[n] = v/3cos(27n/3+ 37/2) foraln

(soLuTioN




Pick the correct output signal and enter the number in the answer box:

Difference Equation, H(z), H(w), or h[n]. Output Signal
(a) firfilt( [1,1], [0,1,-1] ) 1. y[n] =é8[n—1] - é[n — 2]
[ANS = 3 | 2. y[n] = 8[n]
(b) ylnl = yln— 1)+ 2] (at rest) 3. yin] = 6l 1] — 5l — 3
with z[n] = §[n] — 6[n — 1] 4. yin] = ufn)
ANS =
| 21 l 5. y[n] = (3)"uln]
(c) H(z) = 1411 6. y[n] = (—3)"un|
with z[n] = §[n] 7. yln]=0 foralln
|ANS =6 l 8. y[n] = cos(2mn/3 — 7) for all n
(d) y[n] =z[n-1] - zn - 2] 9. y[n] = V3cos(2an/3 4 37/2) foralln
with z[n] = 3 + cos(27n/3) for all n.
[ANS = 9 |
(a) mvol\le : o | - l
L S W)= Lin-1] — §{n-3
L yil= v — §[n-3)
o 1 -l
o | o0 "-(/

| Y= He)X@)»=(-2") == )= |

P a-sp-i)
—————

@=1-2" | -2
Xori=20 172 | 20 Gayet, phea 4= §in).
(C,) |+|_L2" — a"uh’] with Q='~!i (--‘?—_)nuiu]
z

‘A - —\ 285
(d) HEe®)= er-¢
Need to ewlvate ab G=0 awd l:.?=o21'r/3.
HEe)= I-1=0 S
H(e}*5) = ey _ e‘j4“/3
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